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O NP — 036
| Semester B.Com./B.B.A. Examination, February/March 2024
(NEP) (Freshers + Repeaters)
LANGUAGE ENGLISH
Generic English (L2)

Time : 2% Hours Max. Marks : 60

Instructions : 1) Answer all the Sections.
2) Write the correct question number.

SECTION - A
(Grammar Component)

¢
2

I.  Skim the passage and write the suitable title :
‘App’ is a computer industry word that is short for ‘application’. It indicates
the practical application of computer software that is designed to perform a
specific task. A range of convenient apps is now available on mobile phones
and other mobile devices around the world.

Il. Scan the passage given and answer the following questions : 2
Most people take too much when they travel, travel light is the key | Remember
you will have to carry it and heavy luggage soon becomes a nightmare. Take
enough clothes (but not too many), a towel, soap, shampoo and your travel
documents and money.
a) What do most people take when they travel ?
© ) Whatis the best solution ?
[Il. What are reference sources ? 2
[V. Write a Cover Letter to the Blackhill Business Centre for the internship
program. 5
V. What is Therapeutic Listening ? 2
VI. Imagine yourself to be playing a role of a Chef (knead, grind, sauté), and write
a paragraph to introduce the same. 3
P.T.O.
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VII. Do as directed :
a) Introduce yourself to your class teacher.
b) What enquiry would you make in the following situations 7
1) You want to know the reopening date of your college.
i) You want to know the location of the Vidhana Soudha.

¢) Give a set of instructions to prepare Maggi noodles.

VIl 1) Underline the prepositional phrases in the following sentences :
a) We hiked through the forest.
b) The tiger crept over the grass.

2) Identify the clauses in the following sentences (Dependent and
Independent).

a) If you come early we can watch the match.
b) | met her when | was in Delhi.

IX. 1) Fillin the blanks with appropriate tenses given in the bracket.

a) The Earth round the sun. (move, moves, moved)
b) My friends the film yesterday. (see, saw, have seen)

2) Fill in the blanks with the correct form of the verb given in the bracket :

a) The college arranged for a trip. (has/have)
b) They my best friends now. (aref/is)
c) Heis (plays/playing)

3) Fill in the blanks with the correct idioms given in the bracket :
(all walks of life, keep eyes on the ball, daredevil)
a) Gandhi had disciples from
b) One should

to reach their goal.

X. Draft a welcome speech for the inauguration of the Sports Meet held in your
college on 10" January, 2024,

3

y
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| Semester B.Com. Examination, February/March 2024
(NEP) (F+R)
LANGUAGE SANSKRIT ~ |
Mahabharata - Yayathi Upakhyana Grammar and Comprehension

Time : 2% Hours Max. Marks : 60

Instructions : i) Answer in Sanskrit/Kannada/English.
i) Q. No. I and VI should be answered in Sanskrit only.
. Fefieia I feaa | (8x1=8)
JOORT HVITIZ, BOA WBOWO.
Choose the correct answer.
1) WENRA ST FE AfeA vt 7
F) dfmE o) i 3) e 3) I
2) FMa: W & dEAEEmEr’ 3t o aefd ?
¥) qE| o) Wi 3) wREE §) 9y
3) ZaIfa: H TH: T: ?
) T ) WG 3) T %) Sl
4) SIII1; Uid: T
#H) TEN: 3) Jfa: 3) Yd: 3) =
5) FTal NI T A ?
W) FOM ) g 5) FEw $) TTeegaor
6) fifsat Hfa T 3o, ?

#) @ EDECH %) I $) ug
7) ATEET: I A€l 7

nE: MR P DR
8) &l T4 geell T Sarary ft: 7

A R R 9w

P.T.O.
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. e v ot faga

QRRTHTAR word BB TR, WO,
Write an essay on any one of the following.

1) WETWRAshd;: dgsuraey qu-hiel - faed foraa |

g —

LT

(1 X8=8)

OTNITIS 83 3T, 30 s, Tow, 8,879 wrf, WOCWD.

Write about the place, time and works of Vedavyasa, the author of

Mahabharata.
2) Q: Tqufed avfa |

DD & WOy Bedr 2.

Describe the devotion of Puru, towards his father.

. g Agfeuwf forga |
aczssi FO OFV wawsé WBOWD.
Write short notes on any two.

1) TIIHEY |
2) gugat |

3) WEWRAY |
4) Fta: |

IV. <Ot JeAIHTIH, SFSTE Feell Foro |
T BRLBNIRY RTI0R VTR
Translate and explain any four shlokas.

) FATd: ‘@Gﬁm ST F: A |
U | IHaTIl AN TG ||
2) Ffcween fagreieare wm: @e |
mq%’mm- Hail: o 1)
) %1 & ARG AT GYSHTHUEe |
2 = qfdarafargy deomdd

(2x4=8)

(4x3=

12) °
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| Semester B.Com. Examination, February/March 2024
(NEP) (F+R)
COMMERCE
Paper — 1.3 : Principles of Marketing

Time : 212 Hours Max. Marks : 60
Instruction : Answer must be written either in Kannada or English.
SECTION - A
. QNN -

Answer any six sub-questions. Each sub-question carries two marks. (2x6=12)
R TEIR S LT -B,ZROR GUZ0R. T, 303e0m VT~ 3,3 03 T
©BOBNII), BROOTIZT.

1. a) Define marketing.
TRIFLON' BT, WY TR

b) Give the meaning of value.
wjaozsd BOTE SPA.

c) Expand AIDA.
AIDA 33 HZ0R.

d) What is product mix ?
QBT W60 DOTTERD ?

e) State two importance of green marketing.
BATD 20, TTRCT, T TR 79, 20D, BOI), WBOD.

f) What is telemarketing ?
BORRBF LN Q0TITERD 9

g) What is personal selling ?
23,03088 BP0 0TTERO ?

h) What is branding ?
239, 0RO OTITERD ?

P.T.O.
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SECTION - B
WO =
Answer any three questions. Each question carries four marks. (4x3=12)

“:U\:gzs“ddﬁ KA T, Znen wuZon. B,30dnomd T3 j 0300 T OB,
c»g»db"*(?)

2. Explain the importance of marketing process.
[N 3,003 39, 380080, BOROY, WTOR.

3. What is marketing research ? Explain its objectives.
RRBF 0N ROBRCTS 0T ? 933 emcgesm;&gl DO,

4. Explain the value delivery process. g
SPY, VITED T, 00D DFOR.

5. What are the objectives of price setting ?
23 ANQOD TSN IR ?

6. What are the benefits of green marketing process ? Discuss.
TATY TR0 &, 83,0300 &, C3ReWINTD VR ? 2323

SECTION-C
PN -

Answer any three questions. Each question carries twelve marks. (12x3=36)
CIRRTTTLR RRTO T, 23 Ron G080, T, 3030 T, 23’ o3 aa"dzso BOTNFI),
TRODTOZT.

7. Examine the factors that must be considered while selecting the distribution O
channels.
QBT TS, 030, WRETON TONeIRWeTT BOINT), TOe3A.

8. Explain the different methods of promotion.
T 05000 AT AGORNYIY DTOR.

9. Discuss in detail the various steps involved in the development process of
new product.
TR VT ©0E 0 E,80300Q wERR0RTE DG DOINFIY, DTN W3R

10. Explain how external marketing environment has an impact on organisations.
0T, BREFLI0N BOITHY) FOZ oﬁa R0ed Berk T, 20 NV ia DOLOTTY, DTOR.

11. What is marketing segmentation ? Explain the bases of segmentation.
WRTIBES IS OTIBEeRd 7 eImSowd BURONTRY, VeIOR.
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| Semester B.Com. Examination, February/March 2024
(NEP) (F + R)
COMMERCE
Paper - 1.1 : Financial Accountancy

Time : 2% Hours Max. Marks : 60

Instruction : Answers should be written completely either in English or in
Kannada.
SECTION - A
DTN —

Answer any 6 of the following sub-questions. Each sub-question carries 2 marks.
AT CIRFTHTTR Y YB-T,ZNON LUB0R. By@ QUT-T,J7T 0B wosned. (6x2=1 2)

1. a) Give the meaning of Down Payment.
TOOONE TR DOTTED ?

b) State any 2 differences between Journal and Ledger.
BEIFC TBY ATYITT DTRED [, TYANTSY EFR.

c) Mention any two objectives of Financial Accounting.
TR SETIRT CONTYTIRTAR TR YVTEBINTRY, Q0D

d) Give the meaning of data base accounting.
TRké S50 SETAT WTPFRIY, EVR.

e) Why does hire purchase price is more than cash price ?
LRGN L0068 3S030 INT WSN0B 9QTINTLD FoTEIREI0 ?

f) Mention any two features of Accounting.
efiiaa:é T3 C0RPYTITTR ATB Oii\ tamiaﬂg( PR,

g) What is Capital Expenditure ? Give an example.
LIOTTY T35, LOTTER ? LOTD YVTRTTE AR,

h) If Assets are ¥ 7,50,000 and Liabilities are X 3,50,000, Find out the amount
of capital.

@AM 0R. 7,50,000 @02 wemotR Oned de. 3,50,000 253 wommes Bedssy
FOTLBOWD, *

P.T.O.
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5. Mr. Mahesh consigns 800 calculators costing 450 each to Shashi. He incurrs

¥ 12.500 for frieght expenses and T 8,500 for loading expenses. Shashi receives
the calculators and incurre T 6,000 towards clearing charges. He sells 600
calculators at T 850 each and 140 calculators at T 800 each and incurrs ¥7,500

towards selling expenses,

Find out the value of closing stock.
z"u'z' 5 r,r-/r )g

. XesoSDH T 450 23S0 800 o, wdmc‘ﬂ#w oot Cwmoc
nuvroad

23, ¥ 12,500 =3 ¥ 8, 500 dnetaont @i (1oxTHE. BH0330 T, U5~
DELERES Teomon T 6,000 30 Y, oRT . Bbos 600 T C’)Juebuccf@’u
T 850 T3 5, LQUioR s 140 5, e0eroiriert T 800 0of 32 5 wwm‘ﬁ =z

X 7,500 m:ms SRS JORTITE.
SRTAITONGS T, ST N TP, TR, FOBO&LEOWO.
. Explain the advantages of Cloud Accounting.

ey Jsaa CS wmmomm QORI
SECTION-C

TN —

Answer any three of the following question. Each question carries 12 marks. (3x12=36) ¢

23 FFNT O TOTTR FRT @egn@ﬁ eVZOR. B, a;eiﬁ 12 ©03n.
7. a) Explain any 6 accounting concepts.
eﬁsoaax‘écﬁ OCRRYTOTTR 330 aﬁ@feg)zfmfs% QNWOR.

b) Calculate the amountof Interestincluded in each installment under hire purchase
system. Cash price : 3,00,000 Down payment : ¥ 90,000, 3 annual instaliments of

¥ 1,20,000, Z 90,000, T 60,000 respectively payable at the end of each year.

LR §R¥0WE T 0% 8 BT, QT LD TRITI, FOBOHRWD. IR
3¢5 3,00,000 &00nE o T 90,000 TR0 TS o2onenss X 1,20,000,
/90,000 @ ¥ 60,000 8,33055N &8 BRFS EASCDY RSN,

hrs*wra-.fm.—.—‘_. N—
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8. Dhanush purchase a plant costing T 3,20,000 on 1-4-2020 from Mohan Ltd.
under hire purchase system. The terms being 7 80,000 down payment and
balance in three equal annual installments together with interest at 20% p.a. on
outstanding cash price, Depreciation is to be charged at 15% p.a. under straight-
line method. Prepare necessary Ledger Account in the books of Dhanush under
assets accrual method.

FROT QOWOTIW 0w 008, B, BT dodarosoor 1-4-2020 ©OT0
13,20,000 A woart -330136;330@&1@6 %3 00363 TOBOM 8980030835, TWIONE

T TOISAR X 80,000 voT BEOITY, 3 A m&rs gozonwd) Je. 20 W&, Xoes
TS IR, 03 SR, W St soeed Tar B¢ 16 C BOTE, 369
R (SLM). GROTFOR0 YTIRE, erig, s Ao, BRI wwaw@
ei’so A lelevelo
9. Following particulars relate to Mysore branch for the year ending 31-3-23. The

goods are sent to branch at cost +25%.
a) Balances at the branch on 1-4-2022 :

Stock at invoice price ¥ 1,80,000

Debtors ¥ 3,60,000

Petty cash ¥ 3,000

Outstanding rent X 3,006

b) Transactions for the year 2022 — 23
Goods sent to branch at invoice price ¥ 38,00,000
Cash sales ¥ 7,27,500
Credit sales ¥ 26,17,000
Collection from debtors ¥ 24,00,000
Discount allowed to customers ¥ 10,000
Bad debts written off ¥ 12,000
Goods returns from customers ¥ 15,000

c) Cash sent to branch during 2022 — 23 for :
Salaries ¥ 1,20,000
Rent Z 33,000
Petty cash ¥ 7,500

(} Scanned with OKEN Scanner
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d) Balances of the branch as on 31-3.23

Stock at invoice price ¥ 3.00.000
Debtors at branch ?
Petty cash at branch ?
Qutstanding rent ¥ 3,300

Prepare Mysore Branch Account in the books of Bangalore Head Office.

L/
nRUS ToT

FUTOR ATIBRYY 319 -3—236; msmwp a;a:lrifa BOoLOQATIOZ FYTR
BYRTOS AT, 33, 308 25% 8oas SmaEeNtIZE. 'S
Q) 1-4-2022 503 madeb O SN :

T mz TOTQ, Womad X 1,80,000

aDeINsL X 3,60,000

83 SR X 3,000

TORERLIEFNTOE &R T 3,000

R) 2022 - 23§¢ LBTOMIEITON wéwmdm‘b A
Bos3Tt FHWAT FTBONTD o IS8, ¥ 38,00,000
INT IRTLO0T X 7,27,500
O Tnoews T 26,17,000 )
90EINPOT k‘oriéo;%ma % 24,00,000
Mo, BBOT QeRT 0o3eé T 10,000
5t monsh (Bad debts) ¥ 12,000
o, BTFOOTI &0TBT FTBoNEL T 15,000

&) 2022 — 23 8¢) Zoa31 CmoRRT SN :
RoweEN X 1,20,000
worrinen T 33,000
9T Sntmn X 7,500
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Q) 31-3-23 To8 shalods du "\7\'&*‘: :
' [
RORTY, TORQ, TR ¢.3,00,000
AL 2
WQT N 2
il 23,300

ONTRDD T,FoR geleood @g@gsmq%mw D083 S39B0ITY, BOIROA.

)

10. Ram sends 35000 units of product at ¥ 65 each to Shyam on consignment
basis and incurres ¥ 12,000 on freight and ¥ 8,000 on insurance. On receipts of
" goods Shyam accepts a bill drawn by Ram for X 2,75,000 for 3 months and at
the end of the accounting year, he sends account sales showing the following

details :

Sales 30000 units at an avérage price at ¥ 95 each.

Normal loss 2% of the goods consigned.

Expenses incurred unloading charges ¥ 8,000

Carriage ¥ 9,000 selling expenses 7,500 and godown rent X 9,500.
Shyam is entitled for a commission of 5% on total sales.

The final balance due to Ram is settled by Bank draft.

Prepare necessary Ledger Accounts in the books of Ram.

Tow7*T=00 35000 SRONTT), T, 803R00E X 65 003 9, 30° 030N TR, R00E*
) LT OCTER TS BREIT 3. ¥ 12,000 mdr 3, o3 X 8,000 QDI

STERTIZIT. RTB A eﬁdé ROTPFTE, saéwdasda & 2,75,000§ 3 30N T z‘)eg@q

L& ERYITIT WTY TWF 0T, 35803 QTTNOY B0 Fewr O FR&T0TT

Snoow: 30000 TTRGF N apjéoiraocsw% Toox0 T 95 TO3.

TOERT, T, TTB Tevom FedTeo 2

5250332)d 2323 Jﬁﬁo o fa%ime{/w % 8,000

mor T 9,000, Snoets #3X 7,500 w2 VT, €973 2RN X 9,500.

70, SFHTO Wb, BRTT Foee3 B¢ 5 BORI'T B TINTITVT. T TN
]
087 b, 1,08 T, 305000838 $eORY BRBGMOIT. TIRFTRT PITTIL,

080¢5 LWBoL0.
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“Sri Ran
11. Mr. Lakshman started his business on 1-4-2022 in 'hef natmoef (t):]e followigz
Enterprises” by using accounting equations show effec
transactions on the assets, liabilities and capital
a) Initial capital invested ¥ 3,00,000. fr
b) Open a bank account with ¥ 45,000, *
¢) Shop advance ¥ 37,500 paid to the land lord. —
d) Purchase furniture for ¥ 12,000 for the use in business. —
e) Purchase goods for cash ¥ 7,600,
f) Sold part of goods for ¥ 52,500. - '
9) Withdrew cash for X'30,000 for domestic use. @)
h) Incurred the following expenses.

Rent : ¥ 22 500 and electricity bl £,500. 5 S

W&

edoz:roég 3. eifgtéé xmsmm{ WP FYB0 DIEleTt et BANTD, BRI oM
aﬁg WOBTYE Ioees Snow aa’bmdodﬁg{ Se04).
?) ©Tows WOTTY BRRE T 3,00,000.

%) X 45,000r¢r 839,07 9503 lelovbbhnwe)

R) esona VRIS 70t 9N Jeag BOONE ey T 37,500.

&) 12,000 &edraemdsama& 6360 wBA i:aocsaixao@cba@m.

@) 7,500 xdﬁom‘fag{ INTH cmme; ﬂraocgoira@%doagd’. ¢

1-4-2022 5oz . OF 5 35% mémdwmq &,eogon @O&G‘s‘j’wrﬁa‘?‘ 3?6’63@”

%) B0 QB eBremA tomm SR 30,000
D) T00T Toedag 3, BT008 SN ooy, |
WG : ¥ 22 500 L DI, Wer mms TRRDZR 7 7.500.

e T L

(3 Scanned with OKEN Scanner



[T NP - 316

| Semester B.Com. Examination, February/March 2024

(NEP) (F+R)
COMMERCE
Paper - 1.2 : Business Management and Start Ups
Time : 212 Hours Max. Marks : 60
Instruction : Answers should be written completely either in English or in
Kannada

SECTION - A

. Answer any six sub-questions. Each sub-question carries 2 marks. (6x2=12)

BRJTTA 6 LOT-TV,ZNeN ¢UZ0R. T, 0T3P 1§ OB SOFE.

a) What do you mean by Business Management ?
SRSE ATEID 0TTEI0 ?

b) Expand ‘PODSCORB'.
‘PODSCORB’ &3 2F0A.
c) Give the meaning of Motivation.
U3 BB LPFEI), VA,
d) State any two differences between formal and informal leaderships.

B223008 020 £90TLI0T aaojaﬁc‘oazs QTR 35305571@3% SDR.

e) What is Ideation ?
BOS DOTTES 2

f) Give the meaning of venture capital
TOTBALCT, T WOBTVE FF RS, 89A.

g) What is MUDRA scheme ?

“amcs_a) 0310623 OTITERD ?

h) State any two objectives of Samriddhi Scheme.
xmﬁ 032028030 O3NFTOTTR T emz:’aez’smmi RO,

P.T.O.

{

CX Scanned with OKEN Scanner



NP - 316 WO
SECTION ~ B
Answer any three questions. Each question carries 4 marks. (3%4=12)
NRJEAR I Inen vogor. B8 I3 TOW), 08N,
<. Briefly describe the importance of staffing.
W olab 9, W00, B0 Mo BamoN TR,
3. Distinguish between Leader and Manager.
Fo0T SO a%wn%md T[T ANGI), S9N,
4. Explain the features of Start up’s.
STNT DT mwei ENTTY, DTOR. &
S. Briefly explain the goal setting theory of motivation.
X, ¢8R0 OO AFT ma@owmq xoﬁgmﬁ DWOR.
6. Explain the objectives of ‘ASPIRE’.
‘ASPIRE’ 3 emcz eesmm% RNWOR.
SECTION -C
Answer any three questions. Each question carries 12 marks. (3x12=36)

CIRZYTRTTR 3 BINOR wV3oR. T I3 1t 12 e03nsh.

7. What is global business leadership ? Explain the features of a global business

leadership.

2ones 29,70 mwos% QOTTER ? ABT msaoi sam#sgi QRO .

8. Explain the objectives and benefits of Start-up Indian Schemes.
GRUe0% TEBens; 50 odpeson POT €3 ) CHYINTR) HTOR.

9. Explain Blake and Mouton’s Managerial grid theory of leadership.
Lie5* 302) BRI TRT B, Beesoode* f e DOTST AT 0BT, ATOR.

10. Explain the objectives and functions of Incubation centres.

ﬁa‘wgaﬁeza‘ xorg;oda emc(izczﬁ msg a'aodorzwsgi WO,

11. What is seed fund ? Describe the sources of Start up seed fund.

ees DG LOTIBERD 7 STORE Wezs AOOR MM%*Q WIOA,
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| Semester B.Com. Examination, March/April 2023
(NEP) (2021 - 2022 and Onwards) (F+R)

o5 o W, 13,8 - |
mtéus qu -0

Time : 2% Hours Max. Marks : 60

s ey agﬁg nenR V30 LBCWO. (QoWB THRNER LeCT03). (5%4=20)
1) Gai wm& Bert WPRLIEBd DoTD SedBT 36@&'%8 ?
.. V2) STOTF Tore d33028 T, 8RN ,80e000T 8O0 Serrs Vednvo) ?
3) NEeETd IR CdRBREATHT 8230338 ?
\4) 533 TR eIrtodd BBRTRNY, 30:_3)@’;5 Tert TSR ?
\5) 3o% emdraéems 6@5393&? ur}\ SeDIT &zido:aq,wdoaoo.
6) D0 2 wif I JLOFYNPeRD ? TB, T &3 G0, 2B0.

Il o@ B3ReR vU8s W00, (RAS WS ITAER Do), (10x2=20)
) B 8308, BeSTR), T08a058 TowY BeNTHedorsd DFOILONT ?
2) Feeodd W) NTYTYT 0T OGS O RONSNTR) MHTOSTWBITD ? O 2 WBWD.

&%

\3) modees SHFEZONRY ROGORT Wil Ny SRemRnTs) [oB) FOBRTSY, [OORX.

T 980T 78,3385 RecRe womd pond Rodedd WB, BT ders AeR. (3x1=3)
REOF Umon©, AEoron Lariohor aan SNvond TR T,30nsL sin JOFF,
AR TTOE TN WIDT  WFS Rodegrivonndsl. wOZY &raeowdo
um% AP a)csamma.; Rowpeer 3RWoHLD mdsmnbcg;dm eoﬁet{c‘
7,833 Tos TowseodTON IR RWoR F,0008 VBRI, &HomeT JNFNY

2,208 3e00T Wormn tesvor ORT Tdudodie MTIRroR> AFoFT Fodee
P.T.0.
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1) cz03
\ 2 B
V37 #asy
4) Touoee
5) Otfeer w‘,»ﬁn'
BT R

(1x2=2)

(1x2=2) %

(4x1=4)

(1x4=4)
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SECTION ~ B

Answer any four questions from the following ! _ (5%4=20)

8. Explain inter-state conflicts on water sharing in India.
LRTBEY VEOT TOUBoDHOF L0TTTN, WIHHNYRY, sBORO.

9. Write a brief note on soil erosion and desertification.
mr@ T O BTN EBTEIT xoaag wa:gé L 380200.

10. Write a brief note on endangered and endemic species of India.
LROSE DTOBT OO TN F9eoD emeednd wif I8 T eR.

11. Give an account on Environmental Protection Act, 1986.
Paters xodim wos% , 1986 &), QDO

12. Write a note on structure and function of forest ecosystem.
©3e9, TOXT ;?Sm; o> T3 0BY FoT,WIY, WROR.

13. Write a note on Multidisciplinary Nature of Environmental studies.
TORT L, 0D TOTOR L0 TRTB Wi WBOU0.
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| Semester Degree Examination, March/April 2023
(NEP - 2021 - 22 and Onwards) (F + R)
SKILL ENHANCEMENT COURSE (SEC)

Digital Fluency
Time : 1% Hours Max. Marks : 30

Instruction : Answer completely either in English or in Kannada.

PART - A
R -0

nswer any five from the following questions. Each question carries 2 marks. (5x2=10)
SAS clnRYmeste 0T BFNer LUB0R. B3 TF N 2 SOFD.

1. Define A.l. Write one advantage of A.l.
Q0. BFY [, 2.0 WOTD YVTOIRENBIY, EA.

2. What is meant by Chatbot ?
WL IR Q0T

3. Define data. Give any two examples.
BeE0TRY, 3,9, R TR Wmadz%rwabq WTBO0.

4. What is IIOT ? Give one example.
20.20.%.83. 0T8I 7 word QUTRTBOBODTY, WBWD.

&. Mention the four types of cloud.
RS Towd, WinIRY d0n.

6. Define Cyber Security.
%, WO X813, 0630308 330,809, DR.

7. What is Firewall ?
a,@o:bo‘asw‘ R0TBEID ?

8. Write a note on critical thinking.
8,38 Hodon’ wrf WTToN WBCLD.

P.T.O.
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PART - B
Wan -

Answer any four from the following questions. Each question carries
five marks. (4%5=20)

FENS QNPT me T IRert «o3dr. B3 TWIR 5 Lo .

9. Explain in detail A.l. predictions for the future.
PAFTY, 0.0, I08,:MIT derOANYIY HIoN.

10. Explain the different types of machine learning methods.
FOOT* OIFON* QTSNS DG WIRNTIY, DT[OR. .

11. What is Data Science ? Why is it needed ?
Betm J° Q0BT ? [WT LG INFesd ?

12. Write any five future applications of 10T.
PAFF 0.5.83.0D cCBRPmonde 0T GUTOIRENNTTY, S9R.

13. Explain the benefits of cloud computing.
T o, o’ DRPNTS), DTOX.

14. Mention the tips to avoid Cyber Attack.
%, W0f 90,5 AT NG OBRYI), 390.
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| Semester B.Com./B.B.A. Examination, March/April 2023
(NEP) (2021 - 22 and Onwards) (Freshers + Repeaters)
LANGUAGE ENGLISH
Generic English (L2)

Time : 2% Hours Max. Marks : 60
Instructions : 1) Answer all the Sections.
2) Write the correct question number.

SECTION - A
(Grammar Component)

)
. |. Skim the passage and write a suitable title. 2

The birds were chirping, and the sun was shining. Kevin and Juno were sitting
on a park bench together. Neither of them was smiling. After a long period of
silence, Kevin said, “This isn't going to work. | mean, you are a dog person and
I'm a cat person.” Juno nodded. A tear rolled down her face. Kevin went on,

“f we got married and bought a house, what kind of pet would we get ? Cat-dog ?
Somebody’s going to be unhappy.”

Il. Scan the passage given below and answer the following questions. 2

A Phobia is an intense fear or feeling of anxiety that occurs only in a particular
situation that frightens you. This might be something as seemingly logical as
a fear of heights, or as illogical as a fear of green. Musophobia-fear of mice.
Peladophobia-fear of bald people. Amathophobia-fear of dust. Pnigophobia-fear
of choking.

‘ a) What is Phobia ? (9 l \

b) Name the different types of Phobia.

1. List any two examples to online references. ’i/ﬂ | \ 2

_1¥. Write a Cover Letter for the post of Manager at IBM Bangalore. & /| [ 5

V. Mention any four types of listening. | V> 2
VI. Imagine Yourself playing the role of Gas stove and write a paragraph including

the words given in the bracket (lighter, matchbox and flame). <& ) 3

P.T.O.
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VII. Do as directed.
a) Introduce yourself in front of an interview panel. 2

b) What enquiries would you make in the following situation 7 - 2
) You want to know when semester classes are going to start. |
i) You want to know the reason for the delay in the delivery of your product.

¢) Give a set of instructions on how to prepare vegetable salad. v " 4
VIl 1) Underline the prepositional phrases in the following sentences. 2
a) The train traveled at very slow speed.
b) The girl in the new dress looks beautiful, ‘ |
2) Identify the clauses in the following sentences. “

a) If you eat good food you will stay healthy.
b) There was a traffic jam after the school hour.

IX. 1) Fill the blanks with appropriate tenses given in the bracket. 2
a) He to Delhi yesterday. t e
) yesterday. (went, has gone) .

b) The servant come when called. (did not, has not)

2) Fill'in the blanks with the correct form of the verb given in the bracket. 3
a) Indian culture different from other cultures. (is/are)
b) The cost of the cylinder risen. (has/have) " . {
c) Slow and study the race. (win/wins)

3) Fillin the blanks with the correct idioms given in the bracket. < 2

o

(Earn one’s bread, Daredevil, nick of the time)
a) Palguni reached college at the : to attend the final exam.
b) Sanjay is a true who will face any challenge easily.

X. ‘Sanskriti’ the cultural fest is to be held in your college on 5" March 2022 and
you are asked to deliver a Welcome Speech on the occasion. Draft a welcome

g

speech. \ 5
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SECTION - B
(Prose and Poetry)

l. Answer any five in one or two sentences each. (5%2=10)
1) Who did Mr. Pneumonia infect in the lesson “The last leaf” ?
2) Sue and Johnsy were artists. True/False.
3) List any two things that man will do by planting a tree.—
4) How did the Grandfather impress the crowd with the pytbon in the story

“All Creatures Great and Small” ? J
| : e o o
. 5) The Python’s weakness perceived by the Grandfather was -

6) What was the reaction of the lawyer when he first heard Suresh Chabria’s
distribution of property in the lesson ‘Daughter’ ?
7) When Helen heard footsteps, she stretched out her hands thinking it was her
I) Father &

) Teacher =

_Nother.

Il. Answer any two of the following in about one page each. (2x5=10)

_1)yHow did the introduction of the word “water” awaken Helen Keller's Soul ?

2) Explain the theme of environmental awareness brought out in the poem
‘Heart of the Tree’.

3) Decision alter Destiny. Discuss with reference to the story “Daughter”.

-4) Comment on the distinction in the preference of the elderly couple towards
exotic pet in the story “All Creatures Great and Small”.

I
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| Semester B.Com. Examination, March/April 2023
(NEP) (F + R) (2021 ~ 22 and Onwards)
COMMERCE
Paper - 1.3 : Principles of Marketing

Time : 2% Hours Max. Marks : 60

Instruction : Answers must be written either in Kannada or English.

SECTION - A
PN = &

Answer any six sub-questions. Each sub-question carries two marks. (2x6=12)
CRJTRTTR S YVT-TINOR GLZ0%. B o3P0 YoT-T,3 0dan STE ORI,
TROQTBE.
1. a) What is marketing ?
JINTHW ;8,030 0TTE ?
b) What is personal selling ?
33,0308F 0003 0BT 2
c) Expand FMCG.
DT .. R.23. 0T, DTOX.
d) What is product mix ?
' GV 03,80 DOTITEI 2
e) State two importance of online marketing.
EOTLRF O W0 T,8,03003 BB T3, WD, ZOI, 9.
f) What is branding ?
232, OBOTY OTIBEd ?
. 9) What is social media marketing ?
ROTINIE TIVG T TRTE T8, 030 OTBERd 9
h) Give the meaning of value.
BPO,T SBF B9

P.T.O.

G Scanned with OKEN Scanner



Ty

NP - 259 . AV TARE O
SECTION - B
= 1
Answer any three questions. Each question carries four marks. (4%3=12)

TRITTAR Sath TFrent eugon. o 3odnons 18 cde FaL, BOBNYRR #0003,

. 2. Explain the importance of marketing.

SRoow 8,000 09,300, SO WEIOR.

3. Analyse the objectives of market research. ‘

abad)&i oZRezIed emm;wmfc?ig{ N AR,

4. Explain the value delivery process.

TP, AT T3, 00D QR

5. Explain the functions of marketing intermediaries.

SRS T,8,03000 G [EFTY TIODFNTI), QTOR.

6. What are the benefits of green marketing ? Discuss.

TATO SJ0E3 ,8,03000 T,030eRINE OSRR)) ? WIFA.

SECTION - C
PN =

Answer any three questions. Each question carries twelve marks. (12x%3=36)
CIRTTRTTH HRTY T, e LuFOR. T,303R0TO T,F cdowe BITR wo3NIIY
TROOTIET.

7. Elaborate the different approaches in study of marketing.

Teooks T,8,03009) 5, ONTE DT HTOSNYRY, FTYTTN 0.

L el
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Discuss how components of macro environment determines the marketing
plans of firm.

TOM, TOTTT 08tk BoTAD RT3 @,8,0300% 0dpezsny doee Fert TOMmOD
WeDII ROWOTI) WWFA.

Explain the different methods of promotion.
T,IN0T P DTOINTR), DTOR.

What is price ? Explain the methods of pricing policy.
S 0TTE ? B3 JedoDd QFOINTT), DTOAR.

Discuss in detail the various steps involved in the development of new product ?
Ee% U3 ©UE 0 B3,030000Q, wWIRRORTN DT BOBNFRY, DTTTN W3 A.
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| Semester B.Com. Examination, March/April 2023
(NEP) (F + R) (2021 ~ 22 and Onwards)
COMMERCE
Paper - 1.1 : Financial Accountancy

Max. Marks : 60

Instruction : Answer should be written completely either in English or
in Kannada.

SECTION - A
QPN = &

1. Answer any six of the following sub-questions. Each sub-question carries

2 marks. (6x2=12)

2INT CIDTETR B WUB-TINeR evgor. B WB-TI 2 €90BNE0.
a) Give the meaning of Financial Accountancy.

LT 65937":-9 eﬁc;sma% ERR.
b) What is hire purchase system ?

RET 00D HOTTEID ?

c) Who is a consignor and consignee ?
X0B) Cmosto0 w080 ITH :&esammm Q0TT 033900 ?

d) What is account sale ?
5098 00083 (e589083F Beer®) Q0TTERO ?
e) What is Revenue expenditure ?
BoTIROR 3523, 20T3TE ?

f) Mention any four features of dependent branches.
53O0 FoB0OD CINFTTITR T, VT EONTRY 39

g) Give the meaning of database accounting.
T 00 dgmzj_&cs eﬁc;jrw:% PR,

h) If Assets are % 6,00,000 and Liabilities are X 3,00,000, find out the Amount
of Capital.

AN%0 X 6,00,000 #02) umw%amb ¥ 3,00,000 facgp WOTTY BRTBIY

oW LBCWD,
P.T.O.
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SECTION - B
N =W
Answer any three of the following. Each question carries 4 marks. (3%4=12)
& BUNT CARRFTEA BIRE K310 GuZON. 8 T3 4 LodriD.
easurement

2. Give the meaning of accounting concepts and explain money m
concept and accrual concept.
SETOTS TOBRCD LHFERY DB 3 BOOE oo I AT
TOBOFODR) DO

3. Ramya of Bangalore consigned 2000 kgs of oil at ¥ 150 per kg to Kavitha

of Mysore. She incurred ¥ 20,000 for carriage and freight. Kavitha incurred
¥ 5,000 as unloading charges, X 8,000 as godown rent and Z 6,000 as selling
expenses. Normal loss in weight is 100 kgs (leakage) in transit. Kavitha sold
1720 kgs of oil at ¥ 250 per kg. Find out the value of unsold stock.

orieROR 0RO SRR0R 30E0RON 2000 3.22. SFLIR, e 3.23.71X 150
, 590 TTBO TS SRARTOTYT. LT TOTOEs 0B R8O FL I 20,000 ﬁra&gpaagd
322TI X 5,000 ITFZY, A9RBRFLD, I 8,000 &V, £33 LR =02 X 6,000
SROIBT DDF BPRRTITIT. TR, JF, 100 2 0376 (BRe0F) TMEsFCNY,
322000 1720 3.28. 2R ODI, T8 22375 T 250 $od BR0E BRETITIT.

ITEITONT @%@oﬁg m’aoémg{ B0 BOAD.

4. Venkatesh enterprises of Bangalore has branch at Darawad. Prepare Branch
Account in the books of Head Office from the following for the year ended

31-3-2022.

4

Branch stock on 1-4-2021 1,60,000
Branch petty cash on 1-4-2021 6,000
Goods sent to branch 2,00,000
Goods returned to Head Office 45,000
Cash sales at Branch 3,60,000
Cash sent to branch for expenses :

For salaries 36,000

For rent 9,500

For petty cash 4,500 50,000
Petty expenses at branch 5,500
Branch stock on 31-3-2022 1,96,000
Branch petty cash on 31-3-2022 ?
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SECTION - C

ST = &
A 3x12=36
Answer any three of the following. Each question carries 12 marks. ( )
& SENST CINPTHEOH LA I8 et LBOA. b .ﬁ,f{r’. 12 ¢508N%0.
“ :

7. a) What is accounting ? Explain any four accounting functions.

SEIT, NOTBERD ? AR T, PO FLRRAVE), WHOA:
b) Ascertain the value of closing stock from the following.
) Goods sent on consignment 50000 kgs at T 50 per kg. .

i) Normal loss 5% loss in weight.
iii) Non-recurring expenses incurred by consigno

insurance ¥ 12,000.
iv) Non-recurring expenses incurred to consignee unloading Z 12,000.

v) Goods sold by consignee 42500 kgs at T 65 per kg.
25 AT IRHEWOT 08O TOTIIT WS ForEEB0.
i) Cmoseina X% 50000 .28 T 50 Té 3.23.71.
i) TIRT, IF, ISE S TS 03RT BRBTY,
iii) CRSER0IR BT WTITEIT Feg, deeRore % 18,000 030 0% 12,000.
iv) IO A BORTTOR ST FOTIBYRT 233, SRONTDY Qwadpgen X 12,000.
TOE ALTORTT|OOT SRoLTT IR 42500 B.23. X 65 3,8 T3

r Loading T 1 8,000 and

v)

8. Mr. Raju purchased a machine cash price of ¥ 3,90,000 on 1-4-2019 from

Mysore Machines Ltd. under hire purchase system.

The terms being ¥ 90,000 down payment and the balance in three equal annual
installments together with interest at 15% p.a. on the outstanding cash price,
depreciation is to be charged at 10% p.a. under diminishing balance method.

Prepare necessary ledger accounts in the books of Raju till 31-3-2022 under
Asset Accrual Method.

3. TR Q0LITFTD 20T 030, TRY YRR T’ ©.0=00% 1-4-2019 Tomd
7 3,90,000 7 @i 8355@3063@2,, abbe&ﬁoa%d. BOT Ro2onsH FYF0BOSR.

Zooonad ®eo wwéarsy 90,000 B30 LLPT TEIVI, TART A TS BOBONTY
B Be83 15 0B Fhed Do EREMT. TAFY 3e8F 10 TR ATFEAH,
290 D STRUEE, IHCOTT, . <
oI 0H0 THBEE, ©NE TR0 BOFTOITON S ODI) TROTT THSCDY
31-3-2022 U0 208 mé’ﬁ%’&& ZB00Y. - &

@ Scanned with OKEN Scanner



(¥ scanned with OKEN Scanner




RN ;
NP — 257

10. Sah.ana sends 70,000 units of a product at T 48 each to Hamya on consignment
basis and incurres ¥ 18,000 on freight and ¥ 15,000 on insurance. On receipts
of goods Ramya accepts a bill drawn by Sahana for Z 6,50,000 for 3 months
and at the end of the accounting year, she sends account sales showing the

following details.

Sales 60000 units at an average price of ¥ 65 each

Normal loss 2% of the goods consigned.

Expenses incurred unloading charges X 14, 000

Carriage ¥ 15,000, Selling expenses 7 12,500 and Godown Rent ¥ 13,500.
Ramya is entitled for a commission of 5% on total sales. The final balance
due to Sahana is settled by bank draft.

Prepare necessary Ledger Accounts in the books of Sahana.

===33=3> 70,000 S[RINEGSY B, 8030338, T 48 To3 T, J=OR TSR, 00
%W TonEE T Snacosd. X 18, 000 =OR R[B, R X 15, 000 STV,
maﬁé%do@zf TTBONTO wﬁ & BoTPFTE), T, 3% % 6,50,000 33 30TE TOOWT

WO, uai)arae;%@d 3 BIFFT, 39308 QWONLY, ST R | &

5@3&&’3@6
=5nooes 60000 BB T, $03R0TBR, <oo30 T 65 303

mmaﬁ?j smw 258) Tasos 3683 2.
555 OO0RT WA JWO— T080 QWRBRTLD Z 14,000

o T 15,000,
% ms 7 12,500 03D YONe, o33 woin T 13,500.

30909
B30, CF0O Wi, SN0ORT =506 BeBR O BRI N SBETINTOTT. BBTOTROT
/)
08730 4L méoﬁ‘ w@,F, =37839080 $eTORY FNBOIRIT. JETORT IR
[¢]
5980¢3 LIB0U0.
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Il Semester B.Com. Examination, February/March 2024
(NEP) (F+R)
COMMERCE
3.1: Corporate Accounting

Time : 2% Hours Max. Marks : 60
Instruction : Answers should be either in Kannada or in English.

SECTION - A

1. Answer any six sub-questions. Each sub-question carries 2 marks. (6x2=12)

a) State any two features of brand.

b) Who is an underwriter ?

c) What do you mean by normal rate of return ?

d) What is tax deducted at source ?

e) State any four reasons for valuation of shares .

f) Pass the journal entry for issue of equity shares at premium.
g) State any 4 factors determining the value of Goodwill.

h) Give the meaning of marked and unmarked applications.

SECTION - B
Answer any three questions. Each question carries 4 marks. (3x4=12)

. Following are the particulars of Akash Ltd.
Fixed assets — T 8,00,000, current assets — ¥ 5,00,000
Bank overdraft — ¥ 80,000, Goodwill - ¥ 2,00,000
Other current liabilities — T 1,20,000
1,00,000 Eq. shares of ¥ 10 each ¥ 10,00,000
6% debentures Z 4,00,000.

The market value of fixed assets is 12% more than the book value and that
of current assets is 5% less than book value. There is an unrecorded liability
of ¥ 15,000.

Ascertain the value of Eq. shares by net asset method.
P.T.O.

-
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3. Ganesh Co Lid. issued 50,000 shares of T 10 each. The whole issue was fully

under written by A B C and D as follows
A — 20.000 shares, B - 15,000 shares, C - 5,000 shares and D ~ 10,000 shares.

The company received applications for 45,000 shares of which markeq
applications were as follows A — 22,000 shares, B ~ 11,000 shares, C — 1,000
shares and D - 9,000 shares.

Determine the liability of each underwriter.

4. Nagaraj Ltd. agreed to purchase the business of Manjunath for this purpose,
Goodwill is to be valued at three years purchase of the average profits of last
4 years adjusted profits.

The profits for the year ending 31-3-2018 to 2021 were X 25,000, X 32,000,
< 30,000 and X 26,000 respectively.

The following additional information is available

a) On 1-9-2020, a major repair expenditure on plant and machinery of
¥ 10,000 was charged to revenue account. Now it is to be capitalised subject
to 10% p.a. depreciation on diminishing balance method for valuation of
Goodwill.

b) The closing stock the year ended 31-3-2019 was overvalued by X 5,000.

c) In order to cover cost of management an annual charge of X 6,000 is made
for Goodwill purpose. Calculate the value of Goodwill.

5. How do you show the following items while prepare company final accounts ?
a) Goods destroyed by fire
b) Calls in arrears
c) Discount on issue of shares
d) Interim dividend.

6. Ashok limited issued 20,000 equity shares of X 10 each pay as follows :
Z 2 on application, ¥ 4 on allotment
Z 3 on first call and balance in final call.
All the shares were duly subscribed for the amount were duly received.

Give journal entries in the books of the company only for first call and final
calls due and received.

— |
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Additional Information : jued at X Ao‘moboo. 3
a) Closing stock 31 .3-2022 is va _._%
b) Depreciate plant at 15%. Ve anses.
QV <<:.wm off T 5,000 from _:o__::.:.%n%xc m
d) Half year debenture interest 15 ,. m,.\e k5
e) Transfer T 25,000 to general Swm o :
f) lgnore Corporate Dividend Tax ( . Ltd for the <mm: ended wé-w-womhw A
9. Following is the Balance Sheet of Sharma - g . G
Liabilities ¥ Buildings w‘ww,wwo
Share Capital hinery ,00,000
20,000 shares of X 10 mowwww _,D\_MMSG 1,00,000
P&LA/C 2,00, 80,000
6% Debentures foo_oww MMUmOLA 1,20,000
Creditors Muww.woc muccgcco

10.

11.

ployedis 1 0%. Find out the valye

rn on average capital em j el
e ; f super profits. Building IS revalyegq

Goodwill on the basis of 2 years purchase 0
at ¥ 3,50,000 and machinery at ¥ 90,000.

On 31-3-2021 the Balance Sheet of SABS Co. Ltd. shows the following positi

Liabilities 4 Assets <
Share Capital (of T 10 each) 16,00,000 Fixed assets 20,00,000
Reserves 2,60,000 Current assets 8,00,000
P&LA 80,000 Goodwill 1,60,000
5% Debentures 5,00,000
Current liabilities 5,20,000

29,60,000 29,60,000

On 31-3-2021 fixed assets were revalued at ¥ 18,00,000. The profit for the thre
years were 2021 - X 2,40,000, 2020 - X 2,20,000, 2019 - ¥ 2,10,000.

Of the above 20% was placed to the reserve account. The fair return on capit
employed is at 10%.

Calculate the value of equity shares of a company under a) Net asset metht
b) Yield method.

Srinivasa Trading Company Ltd. with a registered capital of ¥ 10,00.000. Issu¢
1,00,000 equity shares of ¥ 10 each. Payable ¥ 3 on mvu:omzom L4 .mmoo
allotment, ¥ 2.50 on first call and balance in final call. All the m:mqmw s\mym ful
m.ccmo;_umq and the money duly received except first call on 5 000 shares a
final call on 18,000 shares. Give the journal entries to record the above




20.00.000
8.00,000
1 ,mam
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il Semester Degree Examination, Mareh/April 2023

(NEP) (2022 ~ 23 and Onwordl) (Freshers) (Open Elective
MATHEMATICS Ly ,

Quantitative Mathematics
f 2% Hours V. g - 65

ﬁ Instruction : Answer all questions.

PART - A

pswer any 4. (2x4=8)

Define real numbers.

Find the cube root of 729.

Find the HCF of 408 and 1032.

1
. > 2x_.—
Find x if 42 = 3%

| Find root of equation 4x — 4y = 24

X —4y =3.

' Travelling at a speed of 50 km/hr., how long a car is going to take to travel
60 km 7
PART -B

swer any 4. (5x4=20)

Find the HCF of 120, 150, 135.

_} Find the cube root of 10648.
> 3 Aman buys postage stamps of denominations 25 paise and 50 paise for

Rs. 10, He buys 28 stamps in all. Find the number of 25 paise stamps brought
by him.,

P.T.O.
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ogs of deer and human visitors at a zoo wWas Countg,

g and | ; uma
4. The number o hasie .\ there were 41 heads and 136 legs. Calculate t- a) S

it was found thi she g

at one point, ; Jo8e e
eople who have visited the park. et

number of deet and p

at the speed of 50 km per hr. when not serviced and runs at 60 my p) John!

ervicing the car COvers a certain distance in 6 hrs. Hg, 2182:151i
the c

5. Acarnuns

when serviced. After s | |
much time will the car take to cover the same distance when not serviced 7

6. Two trains are running in opposite direction with the same speed. If the Iengu;. a) Ina;

of each train is 135 meters and they cross each other in 18 seconds. What and
the speed of each train ? b) Shw
PART -C e
usu
Answer any 4. (4xs

1. 2) Ifit was Sunday on Jan. 1, 2006, what was the day of the week Jan. 1,
: _

b) Find the LCM of =

o

ST .8
161 !

2. a) if a means ‘plus’, b means ‘minus’, ¢ means ‘multiplication, d means
‘divided by’ then 18c14a6b16d4 = ? 754

b) If 2*=b, b’ = ¢, ¢* = a, prove that xyz = 1.
3. a) Solve3a+2b=19 : .~
4a + 3b =27

b) The sum of ages of 5 children born at the intervals of 3 yrs. each is 50 yr
What is the age of the youngest child 7

4. a) Father is aged three ti ‘
t gedthree times more than his son Rohit, after 8 yrs, he would!

WO i i
g anci a half time of Rohith age. What is the age of Rohit ? ¢
esent age of Sunil ang
the ratio of their ageg yj| Akash are in ratio 5 : 4 respectively. After 3 ye¢

age ? become 11 : 9 respectively. What is Sunil pres?
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IV Seme
ster B.Com. Examination, August/September 2023

(NEP Scheme)
- COMMERCE
per - 4.1 : Advanced Corporate Accounting

O
: 2V2 Hours Max. Marks : 60

Instruction : Answer should be written either in English or
Kannada.

SECTION - A
PN - D

swer any six sub-questions. Each question carries two marks. (6x2=12)

SRTEER B8 CUR-BI NN cgoR. B3 T HTE 08T

a) What is capital redemption reserve ?
2 30BTT DRBRCBETD VY NOTTEI ?
b) Name the two objectives of amalgamation of companies.

20TARY F003ReTIOD QO emczeemeés% BIOX.

¢) How do you treat the excess of net assets over purchase price of business

taken over ?
om0 VBF BATY & BSNog =, BBITT

Fert FoNESRIN0 ?

e the two forms of Internal Recon
(W) drawrws% BROA.

0e B33 eﬁ@ifa'ahcéq Slaney

d) Stat struction.

“ w0208 w)sarm;mcﬁ 20

e) Who is 2 contributory ?
0880590 0T 03500 ?

ntion two functions of @ liquidator.

- f) Me
3, SR

T oRness F0® F0030F Y
P.T.O.
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@) What is Human Resources Accounting ? O R P

AN YoTNR e :’sﬁ' QN FTIT 08383 9

h) What do you mean by Inflation Accounting 7
oL 0D c’gmr_f' OB 9

SECTION - B
IO - 2

C} Scanned with OKEN Scanner



d NP — 262 ‘1

From the following par;
bpening journal et{trizq "':7 ;:::rf,')": lculate purchase consideration and pass
1S » DOOKS of Transteres ¢
afe Lompany.

g

Value of assets as per Balance Sheet 75 Of) 000

ggreed value of assets taken over 57'150"000
Liabilities as per Balance Sheet 28,00,000
Liabilities not taken over 50,000

Purchase consideration to be discharged in equity shares of Z 100 each.

BSTOR RNRSWOT I, WHOTRIY, B
B ottt OBRBRYT AT, BOBLRTD,
= RRBRA), T,8018 Broerd THDSOE, WO0W0.

oR.
50 38,803 T,590 BANY VP, 75,00,000
SEoY ZROTBATLY WA BPY) 57,50,000
£s7E0s T30 F,F00 WeooLRONY [ 28,00,000
50,000

BREOERORD BRETITING WM W03
ER0BEEAWF SRR Te. 100 T R0DWSOD ORI, FLBNY TIRVT

| TOBETTINIR)TO.

i
'}Fast Grow Ltd. resorted to internal reconstruction. The scheme is as under :
»
;

50,000 equity shares of X 10 each fully paid to be converted into 25,000

' equity shares of Z 5 each fully paid. o 3

WGO, 10% preference shares of T 100 each fully paid to be converted into
” 50,000 equity shares of T 5 each fully paid.

500, 15% debentures of ¥ 1,000 each to be discharged by the issue of
75,000 equity shares of Z 5 each fully paid.

The amount so available be appropriated to write-off the following :

P and L A/c (Debit balance) X 3,50,000, G/W ¥ 1,50,000 and plant and

machinery ¥ 2,00,000.

Pass necessary Journal Entries in the books of Fast Grow Ltd.
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2),050003053€, %8

]

o o -t

SV
d\.

ge.10 T OTAREL
. S ST Bedond Boeds ¢Sy 18 egaEay, HrreN

i) SOTVTRWECL TOIT WEEos BE,8 SCI0A.

. b

rhe following are the two Balance Sheets of Sun Ltd. and Moon Ltd. as on
31-3-2023.
Liabilities Sun Moon Assets

Ltd. Ltd.

2 %

Share capitals : Goodwill
Equity shares of Building
7 10 each 15,00,000 450,000 Machinery

10% Preference Stock

Shares of Z 100 each 1,50,000 1,50,000 Debtors

General Reserve 1,50,000 1,20,000 Bank balance
Employees’ Preliminary
Provident fund 75,000 30,000 expenses
Sundry Creditors 1,95,000 1,20,000

20,70,000 8,70,000

Sun Moon

Ltd. Ltd.

L& £4

75,000 37,500
4,50,000 1 ,50,000
7,50,000 2,25,000
375,000 2,62,500
3,00,000 1,50,000
75,000 30,000
45,000 15,000
20,70,000 8,70,000
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Both Sun Ltd. and Moon Ltd, carrying on similar line of business and they ha

Ltd. is f
agreed to amalgamate business. As such, a new Company Sky or

to

Me
lakeover assets and liabilities of existing companies with certain exceptioy,

1) Goodwill of Sun Ltd. and Moon Ltd. are to be valued at Z 1,12,500

ang
T 75,000 respectively,

2) Stocks of both the Companies to be valued at 5% less than book value,

3) 10% Preference shares of both the companies will be paid at 10%

Premiyp
Dy issue of equivalent number of 8%

preference shares of Sky Ltd.

4) Equity shareholders of Sun Ltg. will receive 2 equity shares of ¥ 10 each 2

@ premium of X 2 per share of Sky Ltd. and % 20 for 4 equity shares held b
them, where the Moon Ltd. equity shareholde

rs will receive 2 equity share,
of¥ 10 each at g pPremium of ¥ 2

per share of Sky Ltd. and X 30 per shar,
for every 4 equity shares they held.

Prepare -

1) Ledger Accounts in the books of Sun Ltd. and

2) Incorporating Entries in the books of Sky Ltd.
0T208 31-3-2023 ooz 2T Tort

T QBT 203 Suesr Deoris ROBTY s
T, s B3 59800853,
B Oty IF O, Doams o, SENEY A O, I
o, SR, Tw.
BT Lot - aeéra‘n’a@as 75,000 37
g%. 10 P, oy 5 4,50,000 1,50
mamaé Beconsty

15,00,000 4,50,000 ModR DB 750,000 2,25
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:\P ;:!Twmg s the State of Affairs of Universal Ltd. as on 31-3-2023.
Liabilities Ea—— ?
20,000 Equity shares of Goodwill 20’000
T 10 each 2,00,000 Building 7 41’000
Bank overdraft 30,850 Machinery - \)\ 1’01’700
Sundry creditors 30,000 Stock 20’550
Debtors 30,00¢
Cash 3,00¢
Pand L A/c 41,60(
Preliminary expenses 3,00(¢
2,60,850 2,60,85(
The Company adopted the following Scheme of Interna] réconstruction -
a) Reduce the present value of €quity shares to X 5 each fully paiq
b) The Company tg ISsue 13,000 €quity shareg of X 5 each fully paiq anc
Pay-off bank Overdraft.
€) Sundry Creditors agregq to forego 209, of their Claims ag the Company
decided to Pay them cagh lmmedlately for the balance
d) Reconstructton expenses amounted to ¥ 2,000
e ooy
angible asgetg and P and | a/c Completely
ass journg €ntries ang Prepare Rgg
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The net selling price wa
83316 .
As from 1-1-2022 O per unit sold and all units were sold.

that product N4 price was reduced to 2 31 per unit. It was estimated
p ction could be INCreased in 2022 by 50% dt?e to spare capacity.

wages will increase by 10%. You are required to prepare
2021 showing various elements of cost per unit and
fit for 2022,

g:::lhfgzsl;avtv;lsg 00 units will be Produced and sold during the year and factory
selling € recovered as a percentage of direct wages and office and
4 MRENSOSES 5 percentage of work cost.

8. Prepare store ledger account under
i) FIFO

ii) LIFO methods.

Rates of materia| and direct
a) Cost sheet for the year
b) Estimated cost ang pro

1=t Jan. Opening stock 200 pieces @ % 2 each

5" Jan. Purchases 100 pieces @  2.20 each
10" Jan. Purchases 150 pieces @ X 2.40 each
20™ Jan. Purchases 180 pieces @ ¥ 2.50 each
2™ Jan. Issues 150 pieces

7™ Jan. Issues 100 pieces

12" Jan. Issues 100 pieces

28" Jan. Issues 200 pieces

9. i) What are the essentials of a good wage payment system ?
ii) From the following particulars prepare the labour cost sheet per man-day
of 8 hours :
a) Basic salary X 2 per day.
b) Dearness allowance 25 paise for every point over 100 cost of living
Index for working class, current cost of living Index 600 points.
c) Leave salary 10% of a) and b).
d) Employer’s contribution to provident fund 8% of a + b + c.
e) Employer’s contribution to state insurance 2.5% of a + b + ¢.
f) Expenditure on amenities to labour X 20 per head per month.
g) Number of working days in a month 25 days of 8 hours each.
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